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C. 6.49%. .69%. e. None of the above. . ¢ (pik 455 . i innsd
L e rs £4)

rot blhty that the 3 cards on the flop are all different numbers? For instance, if = “C - =
Q* then we would say two of them are the same number (the two queens).

79 /%, then they are all Il;c same number (all 7s). But if they are 74 Q4 44
* QL5 ) % W

o) 87 0%. d. 89.2%. e. None of the abme 5
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m tX are 3, or as it is sometimes written, 3: 1. What 1S P(X)? 2k

5 e 33.3%. d. 50.0%. e. None of the above. 2L —2x+3 =
";f'f-ff.,_f, ar opponent would go all in before the flop with 100% probability 1f =
d go m before the flop with 50% probability if she had AQ, and she
Wlth 30% probability if she had a pocket pair. With other hands,
y the Would 20 all in before the flop. Given that she has gone all in

'-[; her 1nf0rmat10n about her cards or her ogponents cards, what 1s OCalt |AE ) P (Ak)
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& 50.0%. d. 6.;.;.__.,% e. None of the above. 4 PGV \AS)
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PpC inier1 has Q¥ 2% his only opponent Lederer has 109 89,
the L 1S 1eV ealed the pot 1S ‘BlOO The turn 1s 44, and Lederc.,r
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.. S expected number of chips atter this hand, and
ederc s cards and the 4 cards on the board, should Minier:

a Y " *% ablllty of winning the hand is at least 14.1%, and

his probab Wir i
b. Yes, because %! - probab llty of winning the hand is at least 11.2%, and

his probability of W =
ou 2) l ty of winning the hand is at least 11.8%,
but his probablll ty O 'i? 'f _}ﬁ nin 4% .
d. No, because Minieri | lit wmnlng the hand is at least 14.3%,
ut his pl‘Obablllty of Wl ning t _ A ) LG
e. None of the above. | U*‘\ B\
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7. Minierni calls, and the river 18
gain due to luck on the river? K
a. $101. b. %112, c. $118,
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T he next two problems, let X = $5 if you are dealt two hole cards of the same suit as each
ji.n Your next hand, and X = $0 otherwise. LY e e
._--_,L:'*eexpected value ol X, in dollars?

D, 2.20. G 2.4, d. 2.89, ¢. None of the above.

( l..
% : | { y A 71
ance of X, in dollars? ER) (5

4.50. c. 6.28. a. 7,04, ¢. None of the above.

¢ event that both your hole cards are Kings, and let B be the event that both your
2 red cards. Are A and B independent? PCA(G)Y # P(A)
b Yes. ¢. Cannot be determined from the information given.

u play 100 hands of Texas Holdem. Let X = the number of hands where both
e clubs. Whatts the expected value of X7 Plbotn cluns) = €475 2)
. 3.88. d. 6.20; e. None of the above., :

er of hands until the first time you are dealt 2 cards that are both clubs.

£ 1/ 0. d. 18.9. e. None of the above.

( K):=
¢ 0.518. 833 e. None of the above.

B E(X) = 1/2. Whatis P(2 < X <3)? (e~ 2.718282).
d. 8.03%. e. None oi the above.
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